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1 100kN/m%Z#B% % 1.00/0.00 ~ 221 134.39|3m%EHE %% -~ = = —| 100kN/mM%E#BZ3 1.00| 10.67 ~ 20.61 134.39|3m%E B %% -~ = = =
ZhnLs 1.00{ 2.21 ~ 10.00 100.00f 1 Llst | 0.00 ~ 10.00| 2.61 13.97 Zzh st 1.001 500 ~ 10.67 100.00f Zh st | 5.00 ~ 2061 2.61 13.97
9 100kN/m#Z#B% % 1.00{0.00 ~ 287 145.41|3m%EHB %% -~ = = —| 100kN/mM%E#B 23 1.00| 10.66 ~ 24.00 145.41|3m%EHB %% -~ = = =
ZnLs 1.00{ 2.87 ~ 10.65 100.00f Zh List | 0.00 ~ 10.65| 2.81 15.04 Zh st 1.001 500 ~ 10.66 100.00f Zh st | 5.00 ~ 2400 281 15.04
3 100kN/m%Z#BZ % 1.00{0.00 ~ 3.13 149.87|3m%##x%|0.00 ~ 0.11] 3.06 16.36| 100kN/m%#BZ % 1.00{ 10.53 ~ 28.00 149.87|3m%#EZ 5| 25.00 ~ 28.00( 3.06 16.36
ZnLs 1.00] 3.13 ~ 10.91 100.00f Zh st |0.11 ~ 10.91] 3.00 16.05 Zh st 1.001 500 ~ 10.53 100.00f Zh st | 5.00 ~ 2500 3.00 16.05
4 100kN/m%Z#B% % 1.00{0.00 ~ 1.93 129.70|3m%#E % % -~ = = —| 100kN/mM%E#BZ3 1.00| 11.35 ~ 21.90 129.70|3m%E B %% -~ = = =
ZnLs 1.00/1.93 ~ 9.71 100.00( ZH1list | 0.00 ~ 9.71| 249 13.34 Zh st 1.001 500 ~ 11.35 100.00f Zh A4t | 5.00 ~ 2190 2.49 13.34
5 100kN/m#Z#B% % 1.00{0.00 ~ 1.42 121.62|3m%EE %% -~ = = —| 100kN/mM%E#BZ3 1.00| 1254 ~ 22.00 121.62|3m%EHB %% -~ = = =
ZnLs 1.00]1.42 ~ 9.21 100.00f Zh st |0.00 ~ 9.21| 240 12.84 Zh st 1.001 500 ~ 1254 100.00| Zh Ll | 5.00 ~ 22.00| 2.40 12.84
6 100kN/m#Z#B% % -l -~ = -|3mEBZE| - ~ - - -| 100kN/mZ#B x5 = -~ = -|3m%E#Bz% -~ = = =
ZnLs 1.00{0.00 ~ 742 94.73| #hnList = I - - - Zzh st 1.00 500 ~ 9.83 94.73| FnList = et - - -
7 100kN/m#Z#B% % -l -~ = -|3mEBZZ| - ~ - - -| 100kN/mZ#B x5 = -~ = -|3m%E#Bz% -~ = = =
ZnLst 1.00{0.00 ~ 6.53 82.29| =hList = I - - - Zzh Lt 1.00f 500 ~ 783 82.29| =hList = it - - -
8 100kN/m#Z#B% % -l -~ = -|3mEBZE| - ~ - - -| 100kN/m%Z#8 x5 = -~ = -|3m%E#Bz% -~ = = =
ZnLst 1.00{0.00 ~ 3.53 44.69| =nList = I - - - Zh st 1.00f 500 ~ 8.69 44.69| =n st = it - - -
9 100kN/ mM#Z B 2% -l -~ = -|3mEBRL[ - ~ - = —| 100kN/ Mm%z % - = s = -|3mEHEZS = g - - -
Zh s -l -~ = -| Fhist -~ = = = Zh LS = -~ = -| #h st -~ = = =
100kN/m#Z#B% % ~ ImEHEZDL ~ 100kN/m%#B 2 % ~ ImEHBAD ~
Zh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m%Z#B% % ~ ImEHEZD ~ 100kN/m%#B 2 % ~ ImEHBAD ~
Zh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m%Z#B% % ~ ImEHEZDL ~ 100kN/m%#B 2 % ~ 3ImEHBAD ~
Zh s ~ Zh s ~ Zh LS ~ Zh s ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImERBZD ~
Zh st ~ Zh st ~ Zh st ~ ZH LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImERZD ~
Zh st ~ Zh st ~ Zh st ~ ZH LS ~
100kN/m%#B% % ~ ImERBZD ~ 100kN/m%Z#B% % ~ ImERBZD ~
Zh s ~ Zh s ~ ZhLst ~ Zh s ~ |
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